(10 pts) 2. As a later portion of the program in problem 1, we wish to create an array
THW of the total hours worked by each employee, each element of which is the
regular hours worked (from array RH) plus the overtime hours worked (from
array @TH). Write the FORTRAN statements required to create the array THW,
and also to count the number of employees who worked overtime (overtime
hours greater than zero) and call this count C.
| pIneucisy Twrikao . e TR
gt : |
ST 5 1 1 1 1 1 ) ‘
- — ! 1
D¢ L5 J.:(”S%O 1 1 3} 4 1 i
TWTHL) =q (L) ¥UMr () | : . 1 e
IE(UWT(T),. 6T . g0, )C=sC+!1, s . . &
RS CAdMT‘T-UUE; 1 - 1 1 3 | 1 1

& ivia i e T
e i o et B S ol S 53 R A W W i i ity go



